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I11 Semester B.C.A. 3 Degree Examination, November/December 2018
- COMPUTER ORGANISATION AND ARCHITECTURE
(Repeaters)
Time : 3 Hours Max. Marks : 80
Instructions : 1) Answer any ten full questions from Section ~ A.
2) Answer any four full questions from Section — B.
3) Answer any four full questions from Section - C.
4) All Sections are compulsory.
" SECTION - A
1. Answer any 10 foll questions : . (10x2=20)
a) What is a logical gate ? Draw the logic symbol and the truth table for NOR gate.
b) Simplify using Boolean algebra.
iy A'BC+BC
ii) ABC+AB'C+ABC + AB' C',
c) Convert the following numbers with indicated bases into decimal number system
) (12121); =My,
it) (50)7=(Myo
d) What is a micro-operation ? Give two examples.
e) Draw the graphic symbol of a tri-state gate and explain its working.
f) Write the function of PC, IR, AR and DR.
g) Which are the different phases of the instruction cycle ?
h) Convert the given arithmetic expression into reverse polish notation.
(5+6)+2+4
i) What is PSW ? Which are the common flags in the PSW ?
j) What are data manipulation instructions 7 Explain with an example.
k) What is handshaking ? Explain in brief.
1) What is cache memory ?
SECTION -B
Answer any four full questions. - (4x5=20)
2. Simplify with a three variable map, using sum of products method of map simplification.
F(x,y,2)= 2 (1,2,3,6,7).
Draw the circuit diagram using AND/OR gates.
' P.T.O,
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3. Explain the working of a 4x1 multiplexer with its logic diagram.
-4. Explain with a block diagram, the different ways of representing a register in RTL notation.
5. Which are the three instruction code formats in a basic computer ? Explain,
6. Explain the working of a PUSH operation in a register stack organised CPU, with the help of
RTL notations. -
7. What is the difference between isolated IO and memory mapped IO ? List advantages of both.
\ SECTION -C
Answer any four full questions. o . (4x10=40)

"8. a) Write the binary code for numbers from 0 to 9 usmg 4 bits for each number.
b} Convert into binary and perform binary subtracion of the followmg
(23~ 10)
Use 1 sign bit and 7 magnitude bits. o | (5+5=10)
9. a) Explain the three types of shift-nﬁcro-operationsl"
b) Explain a 4-bit binary adder circuit created using full adders. Draw its block diagram.  (5+5=10)
10. What is a control unit ? Explain its working with the help of a neat block diagram.
{1. & Which are the different types of data transfer instructions ? Explain in brief. |
b) Mention any five characteristics of RISC. » (5+5=10)
12. a) Explain memory hierarchy with a block diagram. -
b) What is an IO processor ? What is it used for ? (5+5=10)
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III Semester B.C.A.4 Degree Examination, November/December 2018
DATA COMMUNICATION AND COMPUTER NETWORKS (Regular)

Time : 3 Hours : Max. Marks : 80

L.

Instructions : 1) All Sections are compulsory.
2} Draw neat diagrams wherever necessary.

SECTION - A

Answer the following. (2x10=20)

a) Define communication network. Give example.

b) What is the function of a switch ?

¢) Define Nyquist signalling rate.

d) What is a modem ?

¢) Mention the drawbacks of single parity check.

f) What is the difference between guided and unguided media ?

g) What is a protocol ? Give example.

h) Define the term flow control.

1) What is a wireless LAN ?

i) What is the purpose of a MAC protocol ?
SECTION - B

Answer any four of the following. (5%4=20)

2.

A

Discuss packet switching and internet. _
What is line encoding ? Explain NRZ-L and RZ encoding schemes.
Describe the co-axial cable transmission medium.
Explain the HDLC frame format.
Write a note on LAN.
SECTION - C

Answer any four of the following. (10x4=40)

7.
8.
9.

10.
1L

Explain in detail the OSI reference model.
Define modulation. Explain the various digital modulation techniques.
What are polynomial codes ? Describe the Cyclic Redundancy Check method (CRC) for error

detection.

-What are ARQ protocols ? Explain the stop-and-wait ARQ.

Explain the IEEE 802.3 (Ethernet) standard for LAN.
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I Semester B.C.A.4 Degree Examination, November/December 2018
OOPS USING JAVA (Regular)

Time : 3 Hours Max. Marks : 80

Instructions : i) All sections are compulisory.
ii) Draw neat diagrams wherever necessary.

SECTION -A

1. Answer the following questions : (2x10=20)

a)
b)
c)
d)
e}
f)
g)
h)
i)
)

Define AWT.

What is garbage collection ?

What is vector 7 List any two methods.

What is multithreading ?

What is super and this keywords ? .

What are access modifiers in java ?

What is exception handling ?

What is applet ?

What is typecasting in java ?

Explain the line “Public static void main (String args [ ])”
SECTION - B

Answer any four of the following : (5%4=20)

SN i

Explain the java program structure.

What is package ? Write down steps for creating user defined package.

Explain applet life cycle with neat diagram.

Write a java program to demonstrate at least 5 string methods using scanner class.
Explain with File reader and File writer concept.

SECTION -C

Answer any four of the following : (10"4""40)

7. a)

What do you mean by unchecked exception ? Write a program to illustrate try, catch and
finally statements.

b) Write a note on graphics class and methods. A (5+5)

P.T.O.
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8. a) Explain method overriding with example. _
b) Difference between C++ and java. ‘ (5+5)
9. Write short note on : '
a} Final keyword
b) Synchronization in threads
¢) Static method
d) Wait ( } and Sleep ().
10. Explain with example wrapper classes ? Write a java prograin to implement wrapper classes
and their methods.
11. Explain method overloading with example.
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IIT Semester B.C.A.4 Degree Examination, November/December 2018
DISCRETE MATHEMATICAL STRUCTURES (Theory) (Regular)

Time : 3 Hours Max. Marks : 80
Instructions : 1) Draw neat diagrams wherever required.
2) Simple calculators are allowed.
3) Answer the questions as per the instructions.
SECTION - A _
1. Answer all the following questions. (2x10=20)
a) If pis false and q is true, find the truth value of (p — ~q).
b) Define existential quantifier.
c) If A={a,b,c,d, e} and B={d, e, f, g}, compute the cardinality of (B — A).
d) Define pigeon hole principle.
¢) What do you mean by an algebraic system ? |
f) Define a Monoid.
g) Obtain the recurrence relation for the fibonacci sequence.
h) State the counting rule of Sum.
i) What is a multigraph ?
J) Define tree.
SECTION - B
Answer any 4 questions of the following. » (5%4=20)
2. Construct the truth table of (p A q) = (~1).
3. Mention any 4 operations on sets with Mathematical notation and Venn diagram for each
operation.

: 1
4, Provethat1 +2+3+...n= E ‘n - (n+ 1), by Mathematical induction.
5. Ifaxb=a+b+3foralla b e z the set of integers, prove that (z, ) is an abelian group.

6. Define bipartite graph and draw corresponding bipartite graph of the following graph.

P.T.O.
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SECTION -C
Answer any 4 questions of the following. (10x4=40)
7. a) Write a note on well-formed formulas (wff).
b) Test whether the following argument is valid
p > ~q
~r = P (5+5)
q
T
8. a) Inasample of 100 chips, 23 have a defect D,, 26 have a defect of D,, 30 have a defect of
D,, 7 have defects of D, and D,, 8 have defects of D, and D,, 10 have defects D, and D,
and 3 have all the three defects. Find the number of chips having :
i) At least one defect
ii) No defect
b) LetA={1,2,3,4,6} andR be arelation on A, defined by R = {(1, 1), (2, 1), (2, 2), (3, 1),
(3,3),4,1),(4,2), 4, 4), (6, 1), (6, 2), (6, 3), (6, 6)}. Represent the relation R as matrix
and draw its digraph. (5+5)
9. a) Showthat G= {0, 1,2, 3,4, 5} is an abelian group under addition modulo 6.
b) Define Rings and Fields. (5+5)
10. a) Find the number of permutations of the word “PEPPER” and pémlutations if all P’s together.
b) Out of 6 boys and 4 girls a committee of 6 is to be formed. In how many ways can this be
done if the committee contains
i) 2 girls
i) at least 2 girls (5+5)
11. Define any 4 of the following terms related to graph theory.
i) Graph '
i) In-degree

iii) Out-degree

iv) Adjacency matrix

v} Isomorphic graph.
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T1I Semester B.C.A. 3 Degree Examination, Nov./Dec. 2018

(Repeater)
DISCRETE MATHEMATICAL STRUCTURES

Time : 3 Hours Max. Marks : 80

Instructions : 1) Answer the questions as per instructions.
2) Simple calculators are allowed.
3} Answer all questions.

SECTION - A _
. Answer any ten questions : ’ (10%2=20)
1) a) fU={1,2,3,4,5,6,7,8},A={1,2,3} and B={3,4, 5} find AUB.
b) Define combination with example.
¢) Give counter example to disprove the statement “Only odd numbers are prime”.
d) Define quantifier.
e) State induction principle.
f) If pis true and q is false, then find the truth value of pA{~pva).
g) Find the number of positive divisors of 960.
h) Define reflexive relation.
i) IfA={a,b,c} and B={c, d,e} find (A-B) x (A N B).
j) LetA={1,2,3,4} and let R be the relation on A defined by aRb if and only if a > b.
k) Leta function f: R — R defined by f{x) = X*+ 5x + 1. Determine the image of subset
A ={-1,4} ofR.
1) Consider the functions f and g defined by f(x) = X* and g(x) =X*+2 ¥x € R find gof.
SECTION - B .
II. Answer any four questions : (4x5=20)

2) Find the number of permutations of :
a) All the letters
b) With all P’s together of the word “PEPPER”. .
3) For any three sets prove that AN(BNC)=(ANB)NC.
4) Give direct proof of the statement “If m and n is odd then m + n is even and min is odd”.
5) Prove by the method of mathematical induction that 1+2+3+4+.... +n =2 n(n+1).
6) Find the GCD of 595 and 252 and express it in the form 595m + 252 n.
7) LetA={1,2,3,4}and R={(1,1)(1,2), (2, D) (2, 2) (2,3), (2,4) (3, 4), (4,1)} draw the
diagraph of R and matrix representation of R. PTO.
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- SECTION-C _
IIl. Answer any four questions : (4%10=40)
8) a) Prove that addition principle using Venn diagram.

b) A fair die is thrown (tossed) twice. Find the probability that :
i) Even numbers occur on both throws and

ii) An even numbers occurs in at least one throw. (5+5=10)
9) a) Prove that p—)(q—> r)@(PAQJ-}r.
b) State any five rules of inference along with their names. (5+5=10)

10) a) Find the number of permutations of the letters of the word “ASSASSINATION” and
also find in how many of these 3A’s are together.
b) Find the number and sum of all positive divisors of 5445. (5+5=10)
11) a) Explain operations on relations. '
b) Consider sets A= {a, b, ¢} and B={1,2, 3} and the relation
R = {(a, 1), (b, 1), (¢, 2), (¢, 3} and S = {(a, 1), (3, 2), (b, 1), (b, 2)} from A to B.
Determine R,S,RUS and RNS. _ | (5+5=10)
12) Write a short notes :
a) Pigeon hole principle
b) Logical connectives and truth table
¢) Function ’
d) Quantifiers and their types. 10
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III Semester B.C.A.4 Examination, Nov./Dec. 2018
(Regular) |
OPERATING SYSTEMS PRINCIPLES
Time : 3 Hours ' Max Marks: 80
Instructions : Draw the diagrams wherever necessary.
Simple calculators are permitted.
SECTION -A
I 1) Answer all ten questions : (10%2=20)
a) List four functions of operating system.
b) Distinguish between long term and short term schedules.
¢) What do you mean by response time.
d) Define fragmentation. A
e) Distinguish between logical and physical address space.
f) What is paging.
g) Give the benefits of co-operating process.
h) List all various disk scheduling algorithm.
i) List different types of files.
j) What are the disadvantages of contiguous memory allocation ?
SECTION -B
1. Answer any four questions : (5%4=20)
2) Explain distributed systems.
3) What is Process Control Block (PCB). Explain its components.
4) Explain mutual exclusion using synchronization hardware.
5) Explain various file operations.
6) Explain dinning philosophers problem of synchronization.
SECTION - C
IIl. Answer any four full questions : (10%4=40)
7) a) Explain real time systems and batch systems.
b) Define deadlock. How do we prevent it? (5+5)

P.T.O.
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8) a) Define muitiprogramming concept.
b) Consider set of process with CPU burst, arrival and priority. (Lower number

indicate higher priority).
Process Burst time (ms) Priority Arrival time (ms)
P 8 | 4 | 0
P, 9 1 0
P, 4 2 1
P 3 3 2

i} Draw the yantt chart, illustrating the execution of processes using SJF (preemptive)
and priority (non-preemptive). _
ii) Calculate the average waiting time in each case. (2+8=10)
9. a) Explain LRU Page replacement algorithm. '
b) A hard disk have 100 cylinders numbered from O to 99. The drive is currently at cylinder
43. The status of the queue is 68, 90, 47, 15, 67, 58, 56, 50, 10, 75, 99. Calculate the total
number of head movements using following disk, scheduling algorithm :

i) FCFS _
ii) SSTF. (4+6=10)

10. a) Explain free space management in detail.
b) Explain swapping technique with neat diagram. (6+4)

11. a) Explain the terms first fit, best fit and worst fit with example.
b) Write a short note on file access (sequential and direct access). (6+4=10)




G AR O 6 | 32324/C 240

Reg. No.

III Semester B.C.A.3 Degree Examination, November/December 2018
INTRODUCTION TO UNIX (Repeater)

Tifne : 3 Hours Max Marks : 80

Instructions :a) All Sections are compulisory.
b) Draw neat diagram wherever it is necessary.
SECTION - A
Answer any ten of the following. : (10x2=20)
1. a) Whatis shell ?
'b) What is who command ?
¢) Define binary file,
d) Define cat command.
¢) Define chown command.
f) What is meaning of * and ? in shell ?
g) What is escaping ?
h) Define wait.
1) What is kill command ?
1) Define hard links.
k) What is touch command ?
1) What is uname command ?
SECTION - B

Answer any four of the following. ' {(5x4=20)
How to change file and group ownership ? Explain.

Explain parent-child relationship.

Write shell script to find smallest of 2 numbers.

What is significance of PS command 7

Explain types of files.

Explain wild cards.

N R WM

SECTION ~-C

Answer any four of the following. (10x4=40)
8. Explain with syntax of looping statements,
9. Explain following commands.
) PWD
IT) echo
II) mkdir
V) rm
V) cmp.
PT.0.
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10.
upper case. -

11. Write shell script to display following patterns.
. ) :
12
123
1234
12. “Explairt characteristics of unix.

Write a shell script that accepts one or more filenames as arguments and converts them into



A0 D A 20 5 2 0 10925/C 970

Reg. No. o
2
W O
IIT Semester All U.G. Degree Courses Examination, 3 o
November/December 2018 t 8
DEVELOPMENT OF PERSONALITY AND =
COMMUNICATION SKILLS o
New (Regular) (Compulsory Paper) o
- )

Time : 9.00 a.m. to 10.30 a.m. (90 Minutes) Max. Marks : 80

Instructions : 1) The question paper is in the form of a Question Booklet containing

both Kannada and English versions.

2) After receiving a Question Booklet, the candidates should check
that the Booklet contains all 80 questions in serial order. In case,
a question booklet is defective, report it to the block invigilator and
get it replaced by a complete booklet.

3) Each question is provided with four choices (A), (B), (C) and (D)
having only one correct answer. Choose the correct answer and
darken the bubble corresponding to the question number using
blue/black ball pen in the OMR Answer Sheet.

4) Each correct answer carries 1 mark and no negative mark Jor
unattended questions.

5) No candidate will be allowed to leave the examination hall till the
end of the session and without handing over hisfher original OMR
Answer Sheet to the block invigilator. Candidates should ensure that
the invigilator has verified all the entries in the Register Number
coding column and that the invigilator has affixed his/her signature
in the space provided.

6) Exchange of a Question Booklet in Examination Hall is strictly
prohibited.

7) Blank pages at the end of Question Booklet may be used for rough
work. ‘

8) Strict compliance of instructions is must. Any kind of malpractice
will result in the disqualification of the candidate.

P.T.O.
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1. The term Persona is a word.
TRRF T DOW T B PR,
A) English B) Latin
ohee’ ODISW
C) Spanish D) French
pn) dw @ozs“

2. Personality is

3833

A) Physical Phenomena B) Static
t3208 QTR AT

C) Dynamic D} None of these
Bogbee ' QY CINYRP Y,

3. “Personality is the quality of individual’s total behaviour”. — who's dcfinition ?
“83, SRR I AT, RO FBoRNG - T, AtRdd ?

A) Freud B) Gillin
0N nOw*

C) Allport D) Woodworth
SR Pl

4. Personality refers to
333, 2000

A) Internal behaviour
30308 =IF S

B) External behaviour
WO, [
C) Both A) & B)
A) 3 B) o0@R
D) None of these
QY CIRTEH BY,

5. The fundamental tnits of personality are called
332 Dopeyind LRI bertowhd 30030390

A) Interests B) Abilities
&SRR G0
C) Traits D) Motives

rogansd Jeceind
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6. Personality is formed and starts developing

10.

zﬁ:%aﬁ dazitegeo 208 wdodoen sdormbayc

A) Early in life B) Later in life

2335 0o BB 26380 So30n Bo3w,
C) Middle age D) Old age

e SaAEe, TR,

. How many dimensions are very important in the development of personality ?

ﬁ% tRSriond e amg,cs aa'.igJ exdrineshndd 9

A) 10 B) 5 C) 8 D) 6
?ﬁé_g AT ) 0L eh

. Which dimension is having digestion, blood circulation, breathing etc. ?

msan}_g. dg Jowses, evastoLl ‘a&%aﬁw odras e0dREEEES ?

A) Physical dimension B) Mental dimension
238 &o3RRD Sag SR
C) Energy dimension D) Blissful dimension
3§ ol om0 s
“Personality is not the ready made thing of the time birth”
"33 Eriroride duRP AT LPHOY
A) False B) Can’t say
3, Bedeonnd
C) True ‘ D) Partially true
plel oY RO

Physical strength, well built body and good health are essential to become
RN BkE 38, SYE, Sem w03 24,03 wBner] AR e
A) Successful scientist
ooBy, DHP/R
B) Successful sports person
03By, SO

C) Successful Professor
ezt TpEon

D) None of the above
e cinFoe Ve
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11. All need to develop a good and sound personality, because

12.

13.

14.

15.

16.

SOTR w8 0D R NP FZ L, Ui H8onsd

A) To become good and successful professional
2 00 083 03T, LVTRENBTONED

B) To become good communicator
28 0% AoBSE0 ndg

C) To eam a good name in society
AR 2,000 BRE ReReD

D) None of these
Soedd e e,

To get a good job, individual has to develop

_ 28 0% wordRyen BBEoDOE, FFodo 2633 / Q@ﬁﬁﬁg‘dﬁkmgﬁe&

A 0 A

A) Physical strength " B) Intellectual development
T3808 BFODI PGE tidaritode

C) Skills and competencies _ D) Above all
BT B3 SRen BT 03 QORND

Both intelligence and hard work is required to get success in life

RSB IRy, Bedobrdemat wPORE SH%; 3or ZTonomd tiedd

A) Yes, Both B) No C) Can’t say
TR, AR RY, BegOmNd

To whom the development personality is essential ?

83, 1393 o3ROR BRI TeNS ?

A) To doctors B) To teachers
woggonert sgson

C) To sports person D) To all
estarwoon QbR

“All are not equally intelligent”
“oebe Zmon m%doﬁmh&@&q;‘

A) Yes B) No
Ay ‘ ' B, A
C) May be D) Can’t say
QTLBITD éeﬁmaéﬂdo

To become successful Mathematician, he should have
3oz, ResBTORLS s PoTE3esnss, LIRIR 35 B>

A) Good physique A B) Intelligence
00 S8 . woogy

C) Intelligence and logical reasoning D) Above all
0B =) TosrE dFed D068 QTP

D) None of these
B IR 9
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17. The word emotion is derived from the Latin word “Emovere” which means
REREFT 20t TE) ST RBOD “ ARRBO™" dow BBDG W0, “BRRBO - wod

A) Toplay B) To move C) To think D) None of these

e o) ERFHTR B CORITER ©ey.
18. Emotional damage during the childhood may lead to ‘

WF0IY, 1BIYT TRCINTS 7} BIBETNLITR).

A) Superiority complexity B) Inferiority complexity
Soewdad gadsd 30590 oI »

C) Mal adjustment D) Insecurity feelings
Boedspod s 333 RS

19. One of the following is considered as a positive emotion
BINIYRFY, CInYu Feovags Rosderisdord WonedRena 9

A) Hateness B) Jealousy
3 e BB,
C) Happiness D) None of these
RoBReR |y IR ey
20. “Goodwill is an expression of positive direction”
"o SRR, e R AreiRid” ‘
A) True - B) False C) Don’t know D) None of these

- R0 3, Redy, o [ CRITE e5e)

2]. Human personality is affected by culture through the process of

43 8 Sesrtand Zag 3ot momotind — 81 Jaatom Smest erea,

A) Socialization
MBRWEBTD

B) Perception

ra
C) De-Schooling D) None of these
TIR BenQHE [ IRPEe e,

22. Mention the factor which is not strictly determined by culture
QPN ~ 33 &0 ﬁoz;)amod NP OIIROY,
A) Social norm '
T Qo

B) Attributes such as independence, aggression, competition etc.
03, egsbrabeed, Ao gis amd

C) Communication pattern
RoSBI I

D) Physique
Gtod

Mivkiy
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23. Heredity factor of personality development is

T3, 3o ard eB08330D o3,

A) Caste B) Genes
St . FoBro&%d

C) Intelligence D) Education
Pess o

24. In the selection of Missworld the following which factors are important ?
08 Zborood, eoaTR 83 SUNG odRd $oBrtd ST TR ?

A) Physical appearance B) Intellectmal ability
quddss wosg e
C) Both A) & B) D) None of these
A) 353 B) <@ o) iR &),
25. Gender, age, race, height, weight are related to factor that determine the
personality.

82, DEFER Gort, ks, BD0R, $3, 308 CIRE Lo BeasFaS 7

A) Cultural B) Social C) Biological D) None of these
o038 DRl Bo¥ By CIRHTH By

26. Education is an instrument in developing

btim@ ISR XH2ODTD.

A) Self awareness B) Creativity
R, 00 Rwsdeed

C) Right attitude D) Above all
RooIRd shderREs BoedS 2P

27. “Individual can’t live alone”

“ﬁod:o Lo 2eDTe m@&)c.g;’

A) True B) False
RO ' ‘ 33,

C) Can’t say D) None of these
Bedomniad | o oI ey,
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28. Education, income, employment and home are called factor that détcrminc
personality. _
3855, ST, woRdRent Tore BO3- 82 AT ORS Ay adn 088 Bedo3as 9

A) Political B) Cultural C) Environmental D) None of these

Cowdeod mo%aé _a’oﬁd Q) CARRER S0%
29. Personality development comes to an end at

CRmon 743, WdSedr EnSReREs 9

A) Youthhood B) Adulthood
Wt OPRITY

C) No, it is life long process D) OUd age
BY, BeDIToDF oS G3od S0

30. “Family is the first social environment, parents are first teachers for child”
"R et e WAkt SERVCHTA, Snw adrivs Sedo 5390>”

A) True B) False C) Partially true D) None of these
P IR, 7S 7O h I RT3y,

31. “Cleanliness, punctuality and efficiency are higher values”.
“Z38, _ODOIBI Tt CEned Sus IR,

A) Mental value B) Vital value C) Physical value D) Above all
g ey &3¢ HBg 13 e, (nf3 ] Wy, e deme

32. “Agreeable is an optimistic view of human nature”
"R3 Ard BRI o 1o BT BaBREmNG"

A) True B) False C) Can’t say D) None of these

X0 3, &#@Qﬁm [y CIRJEe g
33. “Neuroticism is the tendency to experience emotions”.

" S08Rens, g DRReRBE SRR,

A) Positive emotion B) Negative emotion
T8 Dodeeynm 20588 e

C) Neutral emotion D) None of these
a’&s% Sodneos 2R CRPTe E5%

34. Children with generally prefer to be with others rather than alone,
RTRFETHA BT 3B0ER0DR o) LODRHRT BCsN DF20NIRNA e,

A) Generality B) Dominance C) Sociality D) None of these
WERIZ, Dy, ROTES TR IR 9,
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35. Two officials are fighting for the same promotion. It is a
' “apBR BPERTTRER 2,053 TRREZIMN BreoarIrRd. |

A) Strcngth. B) Weakness C) Opportunity D) Threat
33 Towr o3l B30I i ater

36. Who introduced “Johari Window” ?
“alnemod 48387 s%mg O350 BOTBEV/IT ?

A) Joseph Luft B) Cooley C) Sigmund Frued D) None of these
BReReT eogF B RIYOT" G000 TR CIRPTR VY
37. Johari window uses the adjectives as possible descriptions of the participant.
IRNECVTC WEEOT IV BRRLD Woews 38 Ju, BBV, VTN,
A) 48 B) 56
FOR) B0 A Chlen!
C) 52 D) None of these
0330 2P OIRTTE 38

38. “Lateral thinking to move from one known ideas to creating new ideas”.
"8 3 8033000 KRBT JOSNTn, BT FORNY, FaRbaytnnds”

A) True B) False C) Can’t say D) None of these
pto) 3R, £e§®a§*ﬂd> SR CIRPYTL e,

39. Where there is will, there is
28 Sosugdodee, B

A) way B} root C) solution D) None of these
R[RNE 36T TOTRT Ry CARYT B

40. “Don’t look tired at the office” — Who told ?
"SRR eIRRRRORTBS Forarded” - IR BP0 9

A) Tauren told B) Employer told
1Pge Beddd oLEINT TP
C) Kettle told D) Don’t know
B3 BePTD Rede.
41. Learning takes place in .
gOohuDBeI 1Y, IR
A) Playground B) Peer team
i s S Rbsaby ros)
C) Classroom D) Above all
FOR3HA, O FORP




L R A

9.

42. A girl is swimming in the water. This is an example of

TRLFOI VEOVY, BT, 200032 YUTOBOBSRNG,
A) Motivation B) Maturation

Reors gtz ind}
C) Leaming D) Remembering
3003008 S2IOEE
43. The term “Communication” is derived from | word.
BN 0% TR ZRRO0OT WodB.
A) Latin B) French
RS’ Poesr
C) English D) Spanish
Qohear )

44. The open society gives opportunity for an individual
3323 B3Rt F3R SPIB) AedIS

A) To develop personality on systematic line
33 Geadonod), 383, oSrinn

B) To explore his strength, weakness and improve
23 B3, chrred whd) RpRoRnv) DoesRdd

C) To improve his status in society
RSRwe), Sﬁﬂt aoiﬁdgﬁamabﬁmgé)@

D} All the above
B P

45, “Man will become true human being ohly in the company of others”
“5200 Bedahd armn BRg FIodd M SRIITHRS

A) True B) False
RO 3,

C) Partially true D) None of these
oniZe KO a3 OIRJTR VY,

46. Does the communication takes place in the absence of sender ?

RouSeBmozes sRmsaD, Rosms g od Srehagtiode ?
A) No, it can’t take place

B) Yes, it can take place
2, SBCIT

Ford, Srdodnges
D) ane of these
B CIRFJTR o

C) We can’t say
Sortesd BedOmnnd
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47. The process of converting the message into understandable or conveyable symbol is

called .
RoaEs B 0done RorseBR) SORRWBRNNT/ RRGH BRBEABWEIH RoBBRN Cientigmaninl Jevslovea)
ot 3BT,
A) Encoding B) Decoding
Rofe3edorROHud RoBe3nds), RBRTHE
C) Sending D) None of these
BebtaRHTO oY) CIRBRL Y,

48. Language, main vehicle of communication plays more important part only among human
beings only

RomRa Bos), TBIT RN BRITCY, [n3 i TR0 TRIB, UABZT.

A) True B) False C) Partially true D) None of these
pta) 33, 205370 RO ) CARTHTRR Y
49. We acquire language through
oaY) FRTORY, BBV

A) Interaction with others
Bedobdronn eododobd 3RS Seed
B) Through socialisation
FRIICBTL DUOOT
C) Both A) & B)
A) 333 B) ode
D) None of the above
FoedT CARPRR B8,

50. “Poor listening skills of the audience can act as a barrier to communication process”.
“FegonRe), ORI PBLOLOTS 7 FoIBIYH BOCIRN St g, 3BT,
A) True B) False C) Partially true D) None of these
F o) 3, ns: RO 2E) IR 8
51. Among the followings which is not a barrier to communication ?
FNSINGD, PP RoRBIE, wESBDY, 7
A) Poor vocabulary
Boy RO B
B) Semantic noise

DI DeS0IH DI BRoOTS TIT 2.0Tse Ded emm'pmmd B
C) Poor listening

owromE odd
D) Good command over language

osieh @ed KB HaE BrodTaRd

F—— - -
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52. The communication that occurs among family members, friends that do not have rigid rules

and guidelines are called
00 AR, Heotsch BerEtd Shehos Resasy
:dodﬁa‘fsag 20T ¥0d0eT,
A) Formal communication
Brnos Rosss

B) Informal communication
OFT30T BodBS

C) Structured communication
XU Bomws

D) None of these
TR CIRRYT €98,

B D08~ Raitnatorivily noahaye, wog

53. Communication that is in the form of photographs, sketches and paintings is called

PcIRUT, BesooesZrich =3y Foson Rty By BRTEQDOR NoRBID

a‘dodaaagd

A) Visual communication
B3 RosBI

C) Informal communication

STTe308 RoREI oY

54. A boy speaking to his girl friend can be called

taty, R0 3 M0te00n ARSmR TR,

A) Electronic communication
QU5 F RowB

C) Informal communication
BowoE toszs

55. Preliterate societies did not have

Oa:)@s‘:mqs Nwrsridh

A) Written communication
OD3 RoNBI

B) Oral communication
T RowTS

C) Communication through body language
~OoN8 KoSxT

D) Visual communication
B3¢ WoB

— . RoJmIsSorsy

B) Verbal communication
LY RosSES

D) None of these

CARJITR ey,

T n‘;sanxgd.

B) Written communication
O3 BossER

D) None of these
Y OIRJITR oY

ﬁoﬁaﬁm& BrodbHne,
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56. Mention which is dyadic communication among the followings ?
FNTIIHrivE cdrzyrd Bosnas BoBBI=IND 2

A) Meeting B) Symposium
] ey
C) Public speech D) Interview
T BT LPORED RoBBeS
57. 1t is not a written communication
[T QDB ROTBIDY,
A) Reports B) Notices
R3O Ap3nsd
C) Public speech D) None of these
RRCWOE (oes o) oIRPYTH ey,
58. Research article is a type of
Rodpeq SeDIR) 2.0 BFOH RONBIONT.
A) Oral communication B) Written communication
s ROBBS 203 RoSBS
C) Visual communication D) None of these
:E,aas:# BONDS o5 IR 88

59. The language used in Newspaper advertisement are informal, attractive words. The language
used in commercial advertisements is short, precise, informai, thymical and eye catching.
BIELOF W0lotTeIriEd OFPTMPOT YRR, RHCHOTIR STRFBTE IINIR), tusedeenZs. FBw03
I LorDTVOR T RoBZR), RUsHD, SPTHRPOIH, TALGEIN 5% Iy Besoziorry SNFS

A) True B) False C) Partially correct D) None of these
o) 3R, e30dB:5N RO Qe CIRPT O

60. “Manuals and handbooks are generally used by business organization and industries”.
g 0 Sody FaarivR) RN Ropririch Ty §rrodricd eusalpenrbgs”.

A) Right B) Wrong C) Partially true D) None of these

F+to) 3, odEsN RO QY CIRJTR B,
61. Telephonic conversation is a

Brdiors RoRRroso 2ot ROBBITONG.

A) Dyadic Communication B) Non dyadic communication
g cinBe- B58 Rowws B,-F 303630 oIBI

C) Only formal communication D) None of these
gesSe Beso0¥ RoSDI o) CARPTO ©©

62. Traffic police showing the path to the vehicle is a example for
Bor0 Bpeds® THTINT 0 FRORPR 207 RONBE, LT BTESCIRNTS ?

A) Spoken language B) Body language
ERCIRIVOTI o - Be® R A

C) Both A) and B) D) None of these
A) 3% B) «8@® 05 IRDTR e,
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63. Personal appearance is one of the main components of body language.
T3 B3 e wons/wew omod Fboad Prsscdion.

A) True B) False C) Partially true D) None of these
30 3, S058m0A A0 oy CIRTHTER Y,

64. Emotional condition of a person can be understood with the help of facial expressions.
%1 T30 S0DLRHTNCOR TS LRDTFE L3R SLrded .

A) True B) False C) Can’t say D) None of these
0 3, BeIOTNED 35 CIRHTEH B
65. Effective is the foundation of effective communication.
TorRmdadng TOHo=0T0 :msasg 17 Danteve)
A) Hearing B) Listening
deorden 0t SRS

C) Inertia and lack of interest

D) None of these
wdd, ) oK

3y CIRRTR Y,
66. Is good orators are born or made ?

e03sd) ppareEott: Srtadde BoeSIRTHE BT ToT ToDIHT SNTOJ]TE ?
A) Some are bom but with practice one can become a good orator
B s Bort EIBY BB FeLBROT 2.2, VST PRTITIONLBOR

B) Good orators are born hence oratory can not be cultivated
m@ds UZE yRRCIRACIT aq)bod eI WROBIOY,

C) Both A) and B)
A) @3 B) wc@Ee

D) None of these
Y CIRTT B,

67. The trait of personality that causes others to follow is called

20D Fs ootPODRS B, R13,3 rorgiRor s ddodh Sdawmd 9

A) Leadership B) Dictatorship

TOLES, ResoF G503,
C) Monarchy D) None of these
Con, 408, JY CRPHTO ©e),

68. Mention the factor that is not a quality of good leader.
BNV IRIE> V3R> TS ORS?

A) Vision and Integrity B) Sglﬁshncss
Grdgiag, S s DI

C) Courage and willingness to take risk D) None of these
55 Ro%) rloacds ZRcEedS e, B CSRFYTER ey
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69. The cricket team wins if all the players work with a
2000 383 F0a rieledorit oe) uwrHoty

A) Team spirit B) Individual spirit
308 tmaloont F378 gpsSodnoant
C) Both A) and B) D) None of these
A) 23y B) addn B CIRYT0 &9

70. Team work is found in
Fos/3or HYRI) oY 2O sorawEx3 9

A) In offices B) In industries
BeondQ groodndd

C) In organisations - D) In all these
Roapessnivd) 8100 BTEINGD.

71. Mention the important causes of conflicts.
RoPTrE Ba0tSegladimn Fhos wodnids) SKon.

A) Communication failure B} Value differences

RSB FTe P mRD
C) Both A) & B) D) None of these
A) 352 B) aon ) IR 9.

72. The efforts made to solve conﬂic_:t is called
Roghalr v, wortsoxbas LoDIRY Sertordd FBoeRr.
A) Finding solutions

B) Conflict resolution
TomT FodbBOILJTH

ROPRF JeTIRF

C) Crisis management D) Both A) and B)
Rotd d3r @ A) 33 B) oo@e

73. The conflict between two communities is called

RSrmodne SEDS Ropar S8y, D0TR BBCIORT,

A) Economic conflict B) Diplomatic conflict
IOFE RopRF DOw00dE Rowieds

C) Community conflict D) None of these
ROTROD oPRF A oIRYSe ey

74. A method of avoiding or postponing the conflict by ignoring, it is called
sm;as;gt BRUNENS gl T SooRpEE RIS, SRIZRT.

A) Accommodation B) Avoidance
Rrotwedd TRBDEYED

D) None of these
o) CORJYTH e

C) Collaboration
ER3nna $ur SRERIJD
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75. The term interview is derived from the term intrevue. It means
ROUT R, wow TP intrevue wow SHpedod eOBCARNS,

A) Sight between

B) Talking together
R DT Lt3 RRSEF
C) Exchanging information D) None of these
BRI0DI) HVE0D SRl vE A oY IR e

76. Mention the techniques that are related with the management of inter-group conflict.
AT BROIT ToFhar I3 VFF BRL FBOLBOINT BoFnv) BROK0.
A) Arbitration

B) Compromise
s rtor
C) Conciliation D) Above all
RO eI P

717. Career plannig includes
wesSinemob Fabodnensosn S eioRtRymd

A) Choosing an occupation B) Getting a job and growing in it

2,00 md%er{aﬂzdg( SoiNERR R 3&:33;&3‘ BRCINTHI a0y SlalelTRA-oVeVn Ta ]
C) Changing jobs D) Above all
60::?##5.3{ WEIbE Beerbyd BtdR 2z

78. The conflict between workers and management can be called
PRFB0 S BT wHorenY SRS Aoparay

0T ISR, .
A) Organizational B) Individval conflict
Rogpeasozs Ho03¥ Nopar
C) Internal conflict D) None of these
30308 Ao B WRJITH &9e).
79. Conflict between two or more individuals is called
azm 3¢ 360 Scdotod ﬁo@a‘ii‘@&iﬁ
A) Cultural conflict B) Group conflict
moﬁbsi ROPRF AEE Boger
C) Interpersonal conflicts D) None of these
3030°3 3 Nopwms R cdRPoe vy

80. Making rehearsals or facing the mock interview come under
£59%0 BORTF S RO FoTBF IS RS BoSEE, 1535S ?
A) Preparatory stage B) Post preparatory phase
AT Bo3 A3z 3030 Bo3
C) Final stage D) Nore of the above
20353 o3

03 IR e,




